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. Solve by completing the square:

2x*—4x-3 =0
[A] % [B] 1+ /10
[C] ”i—m (D] 1+ V10

Solve by completing the square:
4> +2x-5 =0

Al 1+ i@ - —1J_r4\/ﬁ
) —1J_r42\/ﬁ D] 1125

. Solve by completing the square:

X*—6x—4 =0
[A] 3+ 13 [B] -3+ 2413
[C] 3+ 2413 [D] -3+ I3

Solve by completing the square:

3IX*+4X—6 = 0

(A] 2+ 2422 (B] 2+ 422
3 3

] 2i3\/5 D] —2132\/5

. Solve by completing the square:

x> —8x—1=0
[A] 4+ V17 [B] —4+ 17
[C] 4+ 2417 [D] -4+ 217
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6. Solve by completing the square:
4% +8x-2 =0
[A] —1+ V6 [B] 1+ 6
2+ V6 —2+ /6
[C] [D] ——
2 2
7. Solve by completing the square:
4x*-2x-3 =0
~1+ 13 1+ /13
[A] ———— [B]
4 4
1+ 2413 —1+ 2413
[C] 2 [D] 1

8. Solve by completing the square:
3X*+6Xx-5 =0

(A] _3+ 246 (B] 3+ 446
3 3
C 3132\/5 D] —3i34\/g

9. Solve by completing the square:
2x*—6x—-1 =0

Al 3+ ix/ﬁ (B] 3i2m
il —3i22\/ﬁ D] —3i2\/ﬁ

10. Solve by completing the square:
2x*+8x—4 = 0

[A] -2+ 6
[C] 2+ 246

[B] -2+ 26
D] 2+ 6
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